[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

et e e - B

Ratio
I_l_l_lrl..l_l_l_l IIIIIIII.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1

0.95

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__CMSSW._dt08
Efficiend —— pom_v0001_R000000001__ Global__CMSSW_dt05

~ 0.05 T T T T T
R T S

o : : : : :
>0.04F------ e R i e
3 E : : : : :
O S S
S E : : : :
£ 0.03F -+ rhrorere i
] o : : : :
0.025F------ R S RS b :
YN I NS N1 S

YU PRI SRS RSOSSN SO S

0.01 - fmip i b b
E : +++++ oA
0.005f -+~ f----p -ttty I -
Y SN T N | TS I PO
g bt
@ [ 1
oo - L Ak
0'95- I | 1 | I
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>

00.045F

E
50.04F

9.035F
L>)~ E
c 0.03F
[©] o
2.025F
() E

0.02F

0.015E-
0.0
0.005

1.0

Ratio

T
n
T

L B
F T

2o -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


